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testMode

int code, question_code, 
idx, idx_question, 
count_question;

  boolean isAnswered = 
false;

  boolean numberMode = 
false;

  char key;
  int temp = 1;

  int idx_init = 255;
  int idx_curr = 255;

  int num_idx_init = 255;
  int num_idx_curr = 255;

  int counter = 0;
  int num_counter = 0;

  int num_code = 0;

Idx = random(36)+1;

idx<=26 ?

(idx%3) != 0 ?

Y

idx_question=idx/3 + 1;
count_question=idx%3;

Y

idx_question=idx/3 + 1;
count_question = 

idx%3 + 3;

N

question_code = 
getCode(idx_question, 

count_question);

getCode(idx, 
code)

lightOn(question_code)

lightOn(code)

LED 13 on;
LED 2 on;

Delay 1000ms;
LED 13 off;
LED 2 off;

idx_question = idx-26;
numberOn(idx_question);

N

Clear LCD;
LCD display “Input:”

X3

Ans

temp = 1;
isAnswered = false;

numberMode=false;

numberOn(code)

 

Gambar Diagram Alir testMode 1 

Sumber: pribadi 
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examMode

int code, question_code, 
idx, idx_question, 

count_question, no, 
correct, wrong;

  boolean isAnswered = 
false;

  boolean numberMode = 
false;

  char key;
  int temp = 1;

  int idx_init = 255;
  int idx_curr = 255;

  int num_idx_init = 255;
  int num_idx_curr = 255;

  int counter = 0;
  int num_counter = 0;

  int num_code = 0;

Idx = random(36)+1;

idx<=26 ?

(idx%3) != 0 ?

Y

idx_question=idx/3 + 1;
count_question=idx%3;

Y

idx_question=idx/3 + 1;
count_question = 

idx%3 + 3;

N

question_code = 
getCode(idx_question, 

count_question);

getCode(idx, 
code)

lightOn(question_code)

lightOn(code)

LED 13 on;
LED 2 on;

Delay 1000ms;
LED 13 off;
LED 2 off;

idx_question = idx-26;
numberOn(idx_question);

N

Clear LCD;
LCD display “Input:”

X6

Ans2

no++;
isAnswered = false;

numberMode=false;

numberOn(code)

no < 10 ?

Y

Calc

N

Calc

Clear LCD;
LCD display “DONE”

Delay 2000ms;

Input keypad

keypad = 
NO_KEY ?

Clear LCD;
Lcd.print(correct);
Lcd.print(wrong);

Delay 3000ms;

Y

Key = keypad;
Delay 100ms;

Return

N

 

Gambar Diagram Alir examMode 1 

Sumber: pribadi 
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